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— 2IPM2 DORM TOYN TR
Knowingly; it should be brought up and eaten in the place

Overview

The X773 cites a X072 which states that if one knowingly purchased a 73772 outside
D°5w with w"vin Myn, it needs to be brought up to 2°%w17° and eaten there as w"vn.
Our Moo reconciles the ruling of this Xn>72 with other statements.

nooIN asks:
- a5 9920 1PY9NNM PR SINR KN 113299 N NP2 T NIAN INPD DY)
And there is a difficulty; according to whom is this Xn>92 in accord with; if it
is like the 3329, but they maintain even 7ay°72 a 7272 cannot be %510 on myn
v"yn (outside 2°2w7) -
= (1p19) HYAY NIDNT XNNAVINA RNN 2917 199911 NDINNIY 1IN 9NN 295 IN)
And if our Xn>12 here is according to »''", he maintains that you can be %>mn»
w"vn MYn on a a2 even awonnsy,, for this is what is written in the Xnpown of
noYIaR Noon -
- 2D NYYa NNNAN I PP AN 5P PYINMA Y WP THR) NOYAY ThN NP1
Where it states, ‘whether it is n>y>aw or whether it is @''v» you may be ®»nn»
them for a 7°1 and a bird and on a blemished 77%773°. However our Xn>12 here states
clearly w"yn myna mana oonp1? PRI

mooIN resolves an apparent contradiction:
= FaY5T YNIYNT NN 2297 NONTNA POTNNN DIYY VPIT R

And this which previously the Xn»92 in 7210 mentions 7®%rn» in the view of

n''7, indicating that only 7ap72 is the 7nn» 772 but not 72°1n5%, however the Xnoo1 in
N Yo aw states that one can be w"yn Myn %907 on a 7na2 even 72°1N2Y, this is no contradiction, for
in truth »"7 maintains that even 72°nn>% one may be w"v» NMwn 271 on a 7»73, and the reason the
XN°>72 in 7110 stated 1°2%1nn which (seemingly) indicates that it is only 7272, that is -

- *PY9NN0 PN 1A ITIART PIMNYNRY NOPI 19297 KA DIVN

! See 7K 71"7 2,73 mvon (TIE footnote # 16), where NooIn cites a XN™12 in (2,2 7910) 2137 2917 P79, in which there is
a nP17nn between 1327 n'"1 whether one is permitted to be w"yn Nwn 9nn on Nnna (the view of »") or not (the 1327).
% See there (footnote # 19).

? moon finds it necessary to cite the XN in My"2w in order to prove that "1 maintains 72727 ¥ 199 even
72 nnaY, for we cannot know this from the Xn>>2 in 71310 (see footnote # 1) where it merely states (in the view of n"9)
that 131 7272 By 1o w"vn. The word 19%mnn (usually) means 72¥>73, but not 77°nin3%. However the Xnooin states
a0 91 Y 19%nn w'vn. The word 1977 indicate even 39°1n%. See footnote # 2.

4 The &n>>72 there reads; oY 5Y 0MMIR 23 ORA M 92T DN 1°2 0%0 1°2 77 73°0 Ann2 Sy ]’5bﬁﬂb 1w WY Myn
291NN PR 170 5y 1Yonnn.Since according to the 1337 it was necessary to state 72710 18, for according to the 1327 the
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On account of the novelty according to the 3139, therefore he mentioned (°X)

12%nnn, to inform us that according to the 1327 it is P%2rn» X even 72¥°72. In any
event the question remains that this Xn>72 here (which maintains that only 7272 is it 9%nnn [but
not 17°1n>7]) is not according to the 3327 (who maintain that even 723°72 it is not 211) and not
like n"9 (who maintains that we may be 7%°1in2% 991 on a n72).

N1B0IN answers:
- 1903 Y XN YNNI 795 19395 NINNT PN 19529 9N

And the °''9 answers that the Xn»™ 2 here is according to the 1139, and the

reason that here it is 72¥>72 %1% on a 77573 is because this Xn*1 -
= 099V NN NYIN DIYWIVY AMN N2 ONNYWY NITNT NN Y9914

Is discussing an unblemished 72772, which is fit to be brought as a @b 1272, so

he brings it to 2°>217° and should eat it as befitting a 2>2%w 1277 -
= D9IYWY NN NIT DI NHYaL 910 NN

And there (the Xn>12 in 7010) is discussing a 21» nb¥a 72, which is not fit for a
MW 2P -

- 509919 0991Y 511 XYW 151 129913 HINNHN PR 99
So therefore it is not »»rn» even 72772 on account of the 7719913 that he may raise
this 772 in order to produce many herds of cattle.

mooIn proves this distinction between a 0% n9va and a w2 n:
= 1IN Y297 NINDINA NPT NN TNA %539 TUPNT RNODINA NIVN 1) 9919

And this is also brought down in the Xnsoin of @''vy» on this 8n>3m2 cited in the

X713 here (121 20712 PR 1"n) regarding the view of >'' (who maintains that 1222
bW oWy it is eaten in 2°9W17Y), that -
- 7'0}317}35 097 99102 71193 122 MIYA 122 PPRNV P59 1PNV IN DIN NHYA NNPH ON

If the 7m72 was a 2% npa or his produce was X»W (so it is not fit to be eaten in

rule is that 72v°72 125K 120NN PR, it also wrote 122nnn by 1”7 in order to be uniform with the word P%2nnn, but in
truth according to »"9 you may be 77°nn3? 92mn as is evidenced from the xnoown in n*w»aw cited above. [Given the
choice of writing either 19917 or 177101 (both by 11371 1"7), we would rather write 72210 (for the only mistake then
might be to assume that according to »"1 you are not allowed to be 72°mn>? H7nn), than to write P22mn (X), and then
we would mistakenly assume that according to the 1127 it is 72v>72 9211 (we would rather make a mistake by n"
XM than to make a mistake by the X795 1327 [it is a Xnw*? °nn])]

5 See 1R 7"7 2,71 Mmoo (TIE footnote # 17). However by a fmnn anna, since it is "X for a 1279, he will bring it
immediately to 07217 (he will not gain much be being 0>7y 273, since the 721 of a 217w is also a 27w), but if it is
a 0 v2 and not WX for a 127p, he thinks that by leaving it here he can raise so much more cattle.

%y R,

7 This proves that there is a difference whether the 7272 is a 7m0 (in which case the 9121 is effective 72y°72 and the
animal is brought as a 2»7Ww 127p to 2°%W1), or whether the 772 is a 0% n%va (where the 7121 is ineffective and
ampno 0T 1T).
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5w as w'"yn), then whether the exchange was s»wa or whether it was 791723,
the monies return to their original place (meaning the :1%n1 is not effective).

Mmoo anticipates a difficulty:
= 19 >0N2” NN AT 8‘1}:2%‘,7‘1 (3,18 97 xnp 833) NP HNNNT XN

And from that X3 in 82p 917 P70 where the X723 rules that he buys a cow

and brings it to 0°%v1; indicating that 79°1n>% one may be w"¥» My» 951 on a 7 (not only
J2v°72 as the 7127 maintain); how can we reconcile this?

mooIn responds:
- 7n95nnaY S9NY 9,0 YNT RN $299 NINN NNPY 0NN

Perhaps the X713 there is according to »''" who maintains it is permitted
79°1n3% to be w"vn Myn %1% on a 101 mnna.

Another answer:
109991993 N01NY DINSY DIONY Y23 MYN NIPN DIYM NYINNIY 199N) 13299 913 IN

Or it may follow even the view of the 13137 and even 7%1n2% and it is different
there in order to resolve the issue of 22 nmw», which do not circulate easily in
=i’ AL

Summary
According to the 13127 a N 157 is 72¥>72 Honnn, while a 0 Y1 is not Yonnn even

72v°72. According to n" even a 01 %Y1 is 7°nn3% Yonnn. One who has 222 mwvn
may perhaps be 9711 them even 177°1n37 (certainly according to n'").

Thinking it over
In the X3 of Xnp 21 where we permit him to 79°1in5% buy a n72 and bring it to
25w, is he required to buy a a0 or even a o Hya?'?

¥ See 7R 7"7 2,71 mpon (TIE footnote # 11). The case there was where he had w"v» mvn in 522 which do not
circulate in 2°%w1. The X3 there advises him to (77°nn3%) buy a nnma with this 922 nwyn and bring the 7n72 to
7w, However here we say that even by a mnonn mnna it is 22nnn only 7273, but not 77°nn3%. See ‘Thinking it
over’.

? See footnote # 3.

' Therefore the 79°nn3% there can be considered (somewhat of) a 7T2y>72, for there are seemingly no other options.

' See footnote # 8.

12 See xommm 1" 712 (TIRT) R"wAAN.
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